03 EFHE M2-FASE AR
No He-ZERA LEE BIEE R
UECEE T ES 50,000 60,000 A 10,000
2| BB 50,000 60,000 A 10,000
3N E 50,000 60,000 A 10,000
HEEHSE 50,000 60,000 A 10,000
5| B -BREERE 50,000 60,000 A 10,000
6|3x3EH 50,000 50,000 0
1| BHM=E 100,000 200,000 A 100,000
8|TOM=E 50,000 50,000 0
9L =E 70,000 70,000 0
10| EFEEZEZEE 70,000 70,000 0
N1—REREESE 300,000 300,000 0
1R2(RR—VERZESE 50,000 50,000 0
BIEREEREERE 60,000 60,000 0
14(U12A73) —EEE 1,000,000 700,000 300,000
15|U15A7T) —EaE 100,000 300,000 A 200,000
16|U18ATT) —ERE 100,000 100,000 0
a &t 2,200,000 2,250,000 A 50,000




